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/ Model Test Paper March, 2021 \

CLASS -1
SUBJECT: ENGLISH
SCNOO et ettt et e e e e e e e eeeeeeeeeee ee eeare e vttt e s nneanaaeens
Student’s Name ....ccoeeeeeeeeneenennn. ClassS e
RO NO e D ) A
\Total marks: Time /
1. Choose the option you find in a kitchen (15x2=30)

(a) (b) (c) (d)




4. Choose the picture showing well

(a) (b) (c) (d)

5. Choose the shape with same colour

(a) (b) (c) (d)

6. Choose the odd one: -

(b)

7. Choose the same letter @



(a)@ (b)@ (c) (d) @

8. Choose the correct picture for the given letter: -

(a) (b) (c)

9. Choose the letter for the given picture: -

Aot

@) (b) @ (© @ (d)@

10. Choose the incorrect pair

;&J UEa
(b)

(c) (d)

@ f&e

(a)



11. Choose small letter for the given letter: -

(a) (b)@ (C)@ (d)

12. Choose the incorrect pair

13. Choose the letter which is same in both the shapes

B N
T
G H
(a) K () G ©T (d) P

14. Choose the correct letter

)
X
wn

(a) O (b) C (€ Q (d) G



15. Which of the following is showing ‘O’

(c)

(d)

16. Read the following (10x1=10)
1R @ T 3) M (4)€ (5) ]
(6) P (7) of (8) at (9) cat (10) man
17. Dictation (5x2=10)
oW °Q °G
of op on
® g0 e On

e mat erat



